2016 Kota's American Dream Final Standing

No Name e o N T# BF
1|IREFEE 4190 3 1700
2| E+EL & 5 & A+EED L &K< 3930 3 1,700
3| EE— & RBh— 3890 3 1600
A=A FORE Bl R 3830 3 1710
5|=iEH BERE 3250 3
6|&EHE1T AREER 3210 3 1520
UEE S =iEEF 3030 3
8|FRAs TERE BE K& 2970 3
9|—mE —HER 2750 3

10/ B XA BE1L—Ef 2620 4
11|H00E 1 2620 3
12| FEE— BRRE 2610 3
13|55 EM =18 RS 2590 3
L4/INVRE B EEE 2500 3
15| & FHa R 2250 2
16|mB A EFFRAL 2230 3
17|HT&E MEBK 2100 2
18|ihA== AN 2030 2
19| KB elrTPe 2000 3
20( B ARHE— ABEE 1990 3
21 (8RB F5HA EBEERT 1940 3
22|EHERS wARRE 1800 2
23|/1NEFBR 5 E W 1720 2
24()11IBE AN MR R 1700 2
25| EiEE AR BB 1650 2
26 (/i % AR ER 1610 3
27(EHE KM s VIPN 1580 2
28(HBOH A = HA 1580 1 1580
29 [#hL & L EE 1570 1 1570
30/ NP AHE REREES 1500 2
31| & kB HERBEA 1470 2
YA N=E ) HZE— 1420 2
33[@ERM A= 1410 1 1410
34 (AT F TEEE 1400 2
35| &N RER 1380 2
36|/t IERE 1360 2
374 Rt L e 1330 1 1330
38|HEHE BN 1320 2




|E4—E FIRSCF 1300 1 1300
40|78 & M #HF 1300 1 1300
M| EREEE FEFEA 1250 2

42| & B EREE AR 1220 1 1220
43[38) 113N a—& 1220 1

A4 |HBEEFL H<rE 1200 1

45| B A AEE—ED 1150 1

A6/ & E NS NDN 1080 1 1080
AT\ IR B 1030 1 1030
48|14 A BRI 930 1

49| BEF K EBR KINEF 840 1

50 (42 = 21 INREB AT 800

51(FEHEZRE BRIEE 770 1

b2|f@il B INR B 770 1

53[FiR# EHFHH 740 1

54 R EFRIsE R I — 740 1

55| =4 BA A RBX 730 1
56|&HEE EUIEEN 700 1
57(EKBES WH % 6380 1

53 [Em AT o AR BB 670 1

59 [t {E# MIEA 670 1
60(M/IE=X ZHEE 670 1

61(FRIEA T EE 650 1

62 [BRIRIEE BIGTRIE 570 1

63[EE &IfE EEF E— 520 1

64|/ 2R KEFZAH 0

64|=mARE— ZFeE 0

64 (R L — PR 0

64[12 EiC = 2 0

64|REF BA I EA 0

FAESZRpES BIEER 0

64 |F L 2=1E T3 0

64 [RAHELC 15 R 0

6A[BERT FEE R Tx TLFY L 0

64|75k henwE &L 0

64 BB 28 0

64 |/I\PR oL 0

64 [F R H) 0

64 (R EEFK EbiZ arl 0

64 |IEAZK iz 0




64|FREED AH—1& 0
64(#HEA =iE BB 0
64 (/L H— M HEE 0
64 (BB HE OEE 0
64| EARE L 0
64 (2R ) 2/ —f& 0
64 THER THHRE 0
AR IS INRE 0
AR EE ETFER 0
64| Ik R BT A 0
64 A L4 0
64|/ INFE EE—2 0
6A|INA TR R LN 0
64|HB/RmK 7O0—L2EZE 0
64 (g ARAB— JIF SRR 0
64[ENEZ Ly R 0
64 |BE/EE 7] =EE 0
64[FHEA AFIER 0
64 [ ER%E NHER 0
04| EiR=EE feE] s 21 0
64| LAHF— SRS 0
64| K35 Bt 0




